Wthh statement is correct?
tement A —Sambhar is (he la
water lake of Rain.
Statement R - Sambhar IakoRi(E?;Ta"‘
between 74° o 7501;‘“0('
longitudes. ‘
COl‘reCl code 1s -
) Only A is correct
B) A or R both are correct
(C) Only R is correct
) A or R both are not correct

Tgest salt

BT FUT T {2

PYF A — PR AR B GG q8) @n
gl @1 e ® ) '

PYT R — OHR A 74° 9] 75° gdit JumieR)
A Rud 2|

WS @ ? -

(A) Bae A ¥ B T

(B) A 3R R 3! wew ¥ E

(€) g RET R

(D) A SR R I ¥4 =&l &

In 17® century’s “Sisodia-Rathore Alliance”,
the rural of Mewar was -

(A) Maharana Amar Singh - II

(B) Maharana Sangram Singh - II

(C) Maharana Raj Singh - I

(D) Maharana Jagat Singh - I

1741 st & “faaifea—mets Tedu” 4,
HaTS BT IAEH AT —

(A) HERT IR ' - 11

(B) 7eren 9™ f¥HE - 10

(C) 7N 3 fHE -1

(D) FERT WTa 48 - |

Which one of the following is not an
antioxidant?

(A) Selenium (B) Vitamin E

(C) Aspartame (D) Lycopene

fretferfead # 4 B @ U sitaiions
TH 7

(A) Fefas (B) facifir g
‘c),ﬁ’w (D) W
Sarvottam Vilas, Gaj Vilas, 1, ;

i : i , Jawah o
situated in which of the fonowi}:g f:; \f’llas IS
(A) Sonargarh fon (B) Mehran S
(C) Bala Quila ) Jalore fgarh fort

ort

; frerr™!
At e, T ;m;:
Freifefiag + o 9 gh” EgﬁTﬂ el
(A) Hreerg o & ﬁrfﬁq ?1(
(C) arer EFF:r_ﬁ L f Marwar
Who is called the 'f“r-‘f”lrcn\m::gh
(A) Rao Gangdev b z '-u Ajit
(C) Rao Chandrasen (O} Mﬂhardj

singh

. fpa el oldl

HRATS 1 er—faes A pre i
14 (8) fig
(A) <7 T o |
(C) ¥ s () wrraro e R

; ear
In which part of the body do women W

“Damana” ornament”’

(A) Finger (B) Feet

(C) Ears & Nosc _
g ampor fet TR & fog w1 #A
Bl 87

(A) 3fTrel (B) &=

(C) &1 (D) 910

- Which of the following forests are often called

the “Lungs of the Planet™?

(A) Amazon rain (B) Tundra forest
forests

(C) Monsoon forest (D) Taiga forest
FrfaRed # 9§ 5 a1 o seR Rt W
B BES D O § ST Sar 22

(A) ¥ af 95 (B) TUST &

(C) wre_gh a5 (D) &7 9
Pre-Cambrian rocks of Rajasthan are basically
described by -
(A) M.S Khurana
(€) La Touche

(B) C.A Hacket
(D) A M.Heron

E%fkmqa-g]:ﬁm
fam Ty 22

T e gy




9.

10.

Which is the biggest Thermal p
of Rajasthan?

ower Station

(A) Barsingsar Thermal
(B) Suratgarh Thermal
(C) Kota Thermal
(D) Giral Thermal

B G USRI BT HIN @ anfrg fagd
uE /7

How many languages of Rajasthan are
mentioned in Kuvalayamala?

(A) 18 (B) 06

(C) 28 (D) 08

HECIAIE H XToreI @ e Wl @

Sooid &7

(A) 18 (B) 06

(C) 28 (D) 08

11. Match the following —

District

(A) Banswara

(B)  Jaisalmer

(C) Dholpur

(D) Ganganagar
Latitude/Longitude

@  30°1ZN

a  69°30°E

(N 23°3'N

(IV) 78°17°E

Correct code is -

(A) A-11L, B-11, C-I, D-IV

(B) A-I1, B-1I, C-IV, D-I

(C) A-1, B-I1, C-1V, D-III

(D) A-IIL, B-11, C-1V, D-I A

118A - A e

12.

13.

14.

ettt yaferd Ty —
forem

(A)  wFiwarer

(B)  nrerr

©)  thaq

(D) e
Fegrar / ALY

(1) 30°12° 9=
(I 69°30" 7
(IH)  23°% I<X
(V) 78°17' &
e He § —

-

(A) A-III, B-1, C-1, D-TV
(B) A-I1, B-111, C-1V, D-1
(€) A-1, B-1, C-1V, D-TII
(D) A-I1L, B-II, C-TV, D-I

Which organism ¢
disease?

(A) Planaria (B) Leishma{iia
(C) Amoeba (D) Plasmodium

auses the Kala-azar

T i eI SrA BT BRI &
(&) R (B) esrAfET/ AR

(C) ar¥fiaT (D) @Wﬁm’f ‘

Which is called the emergency hormone in
the human body? _

(A) Adrenaline  (B) Progesterone

(C) Insulin (D) Thyroxin

A TN f G B ST
FHEIA HEl Wl 87 _

(A) gfgfer (B) HeReH

(C) gHfer (D) ermaRifea

Which scholar made a scientific division of
Rajasthani painting style in his book “Rajput

paintings™?
(A) Dr. Fayaz Ali

(B) Ananda Coomaraswamy

(D) Eric Dickinson

(€) Dr. Shridhar Andhare

- forw fagm 3 st RE ARy §

EECIRIIREE
fepar?

(A) S, Hury et
(B) 31E AR Wiy
(C) Si. #ieR s
(D) WR =

I &1 e
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.ﬁ Use Some rule and

OPtion for the blank cell? the right
b® 9y frm &1 way
; ¥
63
30
s
(A) 33 (B) 135

(C) 145 (D) 18
Choose the Venn diagram that depicts the

correct relationship among Males, Fathers and
Doctg;s— '

S¥ 99 IRW BT TG P N gy, fren
AR Rifpcas & wa e 1 98 wy

SR - _
(A) (a)@o %
| ‘ (D)@ on

* R — %

/ Find the largest number of four digits which
gives remainder 4 when divided by each
6,8,10 and 127 :

-~ (A) 9946 (B) 9964

(C) 9984. - - (D) 9944 ;

IR il B IO e T B
19 6, 8, 10 3R 12 7% 9§ i &=

W ATHA 4 qGCT T | : e
(A) 9946 (B) 9964 -
(C) 9984 ' (D) 9944
63. Read the following information and answer
~ the given question -

Aarti is older than Muskan. Gajendra is older
than Muskan but younger than Aarti. Keshav
T ydunger than Rajendra and Muskan.
Muskan is older than Rajendra. Whose age is
between Rajendra and Gajendra?
(A) Keshav (B) Muskan
. (C) Aarti (D) None of these

4 f
64. A cuboid has six $id® Oblack

0 Y
The red side is oppoSH© “rpe brown y
P rrommrdes “’““‘Z‘ red side 13 falfiet?: the
j t J .

ﬁﬁﬁntﬁn‘l b(l)lfleme following

i 9
gt o
(C) Red (D) White ¥

; oo 1 o T &3

v T H fafaet At HAD
FAF B GaAd D 'aqs'ﬁtﬁi‘m:ﬁaw

e wom @ e 81T 9 g #)

HAd ?
4 e ot e (A0 BT
(A) e (B) el
(©) @ (D) FH<

2—2++2++3 isequal to -
(A) 1 (B) V6
€)4 % (D) 2

J2+J§.\/2+m.ﬁ+£+d2+ﬁ.
Jz—\/m TR & —

(A) 1. : (B) V6
)4 ' (D) 2

- Find the odd one out —
(A) G29M (B) V24B
(C) T36P (D) D22R
faw" &1 yar g —
(A) G2oM (B) V24B
(C) T36P (D) D22R

- In the following question, three of the given
~ four numbered figures (A), (B), (C) and D)




52,

| I11. S is the mother of T and married to Q.

B S S B e

::ll:lc:hle question below, three statements 1. 11,
I are given. You are required to ﬁ.ﬁd‘oul

. f . sy l

How is Q related to T?
I. M and R are brothers.

I1. S has two sons and one daughter, R being 56.

one of the sons.

(A) Tand 11 (B) Only 111
(C) 11 and 111 (D) T and 11

T oy v yea § N9 HF 1, 10, 1 ]y 9
2| 3! ¥ uar o & 6 Ry HeEl
¥ P91/} U I BT SR A B
fore wata 2 /81

Q. TH fry yoR wafd
1-M 3RR 9E | .
n-sa%%a‘rgaaﬁ'\'wﬁ%, RYA § A

T$ % |

180067 /U

]

By 57.

' s ¥ £579F 9T TEa
et apgam # b 5l _-"P'h ir,; !
6 3R qeq ara 1 9 ag] AT

C ?xt)]ﬁ;l‘)r,m;
AqHhH : 9B 66 “)q % e
(A) 4 ASP T 62

(©) | o

: ; > the hands of :
How many times 10 & day are ( .

clock straight? 2 e
(A) 48 times Pl

(C) 44 times (D) 22 et

@ fa % gy o gt e A
# Bt 87

(A) 48 a0 (B) 24 9N

(C) 44 9= (D) 22 9R

One morning Udai and Vishal were talking to

each other face to face at a crossing. If

Vishal's shadow was exactly to the left of

Jdai, which direction was Udai facing?

M-S T & 71 2 MRQW RERa 21 [ (A) East (B) West
(A) 1R 11 (B) Baet III ‘ " (C) South (D) North
(©) 3R (D) 18R I :

Which of the following letters is 14" to the
right of 6% letter from the left in the English
alphabet? TR RS LTS
(A) W




15,

‘le 1 ]
I 18 hill] ] t]l L -l Tt 'I'
dimous , > 351 ]
‘ ‘”\ irt BE‘\& r'n"'v'f?nf. '}' 1] r1] {

(R) A sword shaped figur an” js - A R Foe oren 3 =i TPl
st e | qed A @ (b il
which is used in Ramleela dr+ wool LR R :
(B) 4 dramg, SATe =7 o afTei e
A temple shaped figure maq (A) H3gm (8) w=g =
i g ade of wood 3 L
with doors. 0ot (C) U= (D) Td¢
{C) Vol e i o AN . . -
: l%“m“‘? the life of a folk deity through e e correct” lain 1S <uitable for
paintings on a khadi cloth, - (A) Humid south-eastern P1
©) A : soybean cultivation. :
throne made ; ; 5 _ ¥ a tised In
of " S of wood on which the idol (B) Mechanized agriculture is Pre
Thakurji is adorned and seated, Ganganagar district. . ablished
\ + - . fFar sl
XIS &1 ulkig did Sl "damr ¥ — (C) Suratgarh agriculture farm ¢

(A) g 4 fffd doars with the help of Russia-
WQW?TH?‘?I&H '_?S;W;%m il Tﬂﬂ (D) Mahi-l(ani&:,:is ahigh yielding V4
i fehar Siar &1 , o Tt tlean,
(B) gurei gaw wdpsl | fffa R rice in Rd,lc;;hﬂ“
G{Irf:i-ﬂi Pl HH B¢ ; P 5
(C) @) & HUS W &b <dadl & oiEad Pl ¢ m)m@‘aﬁm@ﬁﬂﬁﬁnwﬂ @1 Wl @

riety of

el & weaH | uwd S | | ford Suga € | Te oty ’
(D) sl ¥ RiftT Rigw forg ) s | (Blm%gnﬁmmfimqwfaﬂ?l
B o o R e dom o 31 (o (O T P Pl @ e w9
16.  First mammal to be cloned was - - wERI § @1 S
(A) Frog (B) Rat E (D) gd—paa e § wraa @ I
(C) Sheep (D) Goat SqTedHar o qrelt foe 2 |
el faar ST aTel qeel ¥aTarl a1 — 21. Vivaan Kapoor is related to which sport?
(A) Had (B) <& (A) Kho - Kho (B) Boxing
(C) 9 (D) gl : (C) Kabaddi (D) Rifle Shooting
17. Who is the brand ‘ambassador of Beti Bachao I faam oy fra we 6 wefd &
Beti Padhao campaign in Rajasthan? = (A) @1 — w1 (B) qfferear
(A) Sarika Gupta (B) Mithali Raj ) (C) Hass! ISP :
(C) Gulabo Sapera (D) Avani Leki\ara_ ‘_* 22. Late. Hi\samuddin e (a[: " A Eli:ci"T _
5 48 R 38 T = i Handicraft'?. accomplished artist
qis TS B {4 (A) Thewa craft l (B) J : :
(A) FiRa&T (B) fodret 3wt (©) Meehokari 5 clt‘t Patti craft
(C) '{],T-lTéﬁ HURT (D) 3ra+T oIEsT - = Usta craft
18. Where “Rajiv Gandhi Fintech Digital PABR o7 TR & figew
In_s.tilu‘te" is to be established? 4O (A) 91 Herr
(A} Jaipur (B) Jodh_pur .:Lf' (©) W rprd) (B) 5je Al
(C) Kota (D) Udaipur ) 0 (D) ST Foqy
"‘\"Iﬁhff Tﬂ’éfﬁ w %ﬁ:ﬂm m” S o n the second ddy of marri
Eoeel 'ﬁ'; R @) S i i :’as‘ is organised for the nﬁ;gel feception and
A (B - room’s sj o wly weds
ici :ﬂ?ﬁ (D: Wﬂwi (A) Aano de. What s i called )}’ eds by the
19. mw!?iﬁtmarcacﬁng llillce:] Bloadlindirate o i © Ku B) Badhar
e ey L ST
(A) Cerebrum ~ (B) Medulla oblongaty MUMIEIE R W Ry

| : WiRTE TaRfy
ot | (C) Pons (D) Cerebellum B sioj TR 5y ® forg




32.

33.

hich of the following pairs (Cy,
Irency

Suers) i not correctly matcheds

(A) Jh

adshahi - Jaipus

(B) Vijaishahi - Bikaner

(C) Akhaishahi - Jaisalmer

(D) Gajshahi - Jodhpu
IR § 9 BTG (e
ISUIRTIE S 8

(A) sreem

Rarer)

WY
®) R — fork BASL
(©) oy Bl — WIgemy E

(O) ar5remsy — IR

Accurding to census 2011, which district had
.rhc lowest sex ratio in the 4ge group of 0 to 6
In Rajasthan?

(A) Thunjhunu (B) Ganganagar

() Dausa (D) Dholpur

STTTUET 2011 & SF9R, ORI § 09 6
Y 7 H graw ferrura fobwe Rorer 3 o2
(A) 3171 (B) TR

(D) eiterqy

Which is not correctly matched?

(A) DA'w climate region — Mid-Rajasthan

(B) CA’w climate region — South-eastern
Rajasthan

(C) DB’w climate region — Northern
Rajasthan

(D) EA’d climate region — Eastern Rajasthan

TR A A AT T 27

(A) DA'w STeTdig YRl — Hedl oIeefie

(B) CA’w Sicfdly Ua?l — Sferor—gdi vrererH

(C) DB’w SIcTdig Uas9l — ) RISTRelA

(D) EA’d STeTary 9ael — gdi vroieer

The foundation stone of world’s third largest

cricket stadium was laid on 5" Feb, 2022 at -

(A) Jodhpur (B) Chonp (Jaipur)

(C) Kishangarh (D) Sanganer

feg @ dER dE9 as frac wiem @

eI 5 HYae, 2022 &1 wel fbar war?

(A) SHETT (B) =iy (SIgR)

© = (D) AT+

Page 6 of 15
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35.

36.

37.

| which scheme has
Lent of Women and

202
On 19 December, <V
arti

been started by the I1Lrp[’{-||-|_~4I|1;|n'.’
Child Development 11 Yojana
(A) Udaan ke Sath H'"”k.”
(B) Balika Vikas Yojand ana

(C) T Am Shakti lfrl;l;lll' b Inllr‘l

(D) Jagrati Bal Vikas Y0Jane

— fawra AT g™
TR H HfET e gTed fd

genfera faper a1 P
s far arar?

(A) IS & w7 orferer ATIT,

(B) aiferant fasmra AT

(C) arrd, uH, wifer ST ATl

(D) Sirpfer qrer fayeprd AT ;

The escape velocity of the earth 1s - Ly
(A) 11.9 km/sec (B) 11.2 km/sec
(C) 19.2 km/sec (D) 13.6 km/sec

{9 faaFr, 2021 &Y

gedl &1 geird= 97 & — |
(A) 119 f6#H/ Fws (B) 11.2 41/ s

(C) 19.2 f6H/ ¥ (D) 13.6 [5H1/ HFs

Which statement is correct about Bhakra

Canal project?

(A)  Itisa joint project of Punjab-Haryana-
Rajasthan.

(B) It provides irrigation to Hanumangarh
district,

(C)  Rajasthan’s share 1S 17.22%.

(D) 1t rrigates 2.3 Lakh Hectare of
agricultural land.

Correct code is -

(A) B or C (B) B.CorD

@ A BorD

©) A BorC




44,

45,

46.

47.

““ih IS the hardest substance N the |
“HI_\-" € human
(AJ Nl\”li Bones (B) |\Ill‘l'1'.|||

Tooth Enamel (D) Finge; Nail
9 8% &1 wa) BTN iy B
(A) GRS ) gsd)  (B) He &) gagd
© 3 &1 s¥wa D) Jnfery o
(4¥q)
Where 1) Lok Kala Mandir located?
) Jodhpur (B) Udaipur
C) Bikaner (D) Jaipur
{Tq* Sl 7fR FHET Rerg 272
) oy N
(C) Gﬁ:qﬁv (D) SRIgR
Which'district of Rajasthan has got the second
Place Gp' the country under the “Prime
Ministeps Housing Scheme” in June 20219
(A) Jaipur (B) Ajmer
(C) Jodhpur () Dungarpur
NI 2021 %, Qe 3mary AT @ qag
YISTRIN & 6w el & 39 % gy <o
qr< gen?

.”,l’.}.r

Whichi-g?_f the following statements is/are true
in relation to Abhaneri?
(1) The-Harshat Mata temple here was built
by, the Feudal Chauhan’s of Pratiharas.
(2) The-Chand Baori of Abhaneri is world
fa;_';jiius.
(3) Théfe Is a famous temple of goddess
Pippalada, e
Choose'the correct code -
(A) (1),(2)and (3)  (B) Only (2)
(€) (1) and (2) (D) Only (3)
A B wHed ¥ Q¥
BITAT /DI fadeg wE ¥
(1) 21T FARTA & 71 iR wfver @ i
AT qarI o |
(2) el A 7T A9 Rvg yirg 2|
(3) FE @1 AT AT 31 Ay yhyg 2 |
Hel dhe gy —
() (1), (2) 3R (3)  (B) By (3

118A - A

48.

49.

50.

51.

(©) (1) 3R (2) (D) ey (3) | €.
ﬁk

14
/ dM yharal P
vhen di } AT
\q:H;l[.lf"hi':”“l B) | o
Y% =97 ] 1
U"} 154 \I’ [D) -
(C) 1594 AD PR 0
o =12l 40
e Call J
RO Jdrd < T
el Tl hi? (B) 1576 _'_.
(A) 1582 % (D) 1585 % .
; 10T7)
(C) 1594 5 , pairs Book —AU
/ . following
Which of the fo :
is not correctly matc 1€ s

11 ’ rf!-’_”
(A) Desh Darpan - Shank?

(B) Kirtar Bavni - s
(C) Suraj Prakash - Karni d_Th
(D) Ragunath Rupak - Manchz

R F W ST g (JEP—aET)
I B \

(A) 271 FvT —iepRa AR

(B) fbvaik arafi — fd STRaTH

(C) RS YdTS — HRUE

(D) YYATY HUD — HORME JaT

How is the ancient historical place “Aashram
Pattan” known in Modern Times?

(A) Viratnagar (B) Jhalrapatan

(C) Keshoraipatan (D) Bhinmal

Kavi Isardas

ram Sevag

éFmGN'W$$M$
! T T &) g .



38.

39,

41.

42.

118A - A

Ref] and yellow soil is found
djasthan?

o S;.l“lni ]\’1;"‘”"'”“' Sirohi Bhilwara Ajmet
'_/\.l"lt‘l' Sirohi-Dungarpug Banswara

) Sfi\\'ni r\‘;n"u\[\lll Kota Bhundi Bhilwara
(D) Siroh;j Ajmer-Tonk-Jaipu;
NS & fys fora Ao oMt q Wyefy war urd
Tl 27 '
(A) warg Y- RS- Nerarar—_ararie
(B) SRR SINYN-Figare
(©) warg smir—Prer- 8- forarer
(D) R —sromr—aYs STYYR
Pancreatic juice contains which enzyme that
breaks down emulsified fats?
(A) Lipase (B) Trypsin
(C) Amylase (D) Pepsin
FERE 9 ¥ BN A UorgH 2 ar @ W)
SHHIGISS q91 &) diedl &?
(A) Trgus (B) feufys
(C) srger (D) Aftg
Batool Begum is related to which singing
tradition of Rajasthan?
(A) Phad singing (B) Qawwali singing
(C) Gandharva Gaan (D) Mand singing
S 9T B TR ORI P b T

N Which district of

OYFART § 27
(A) &5 T (B) waareiy =
(C) &g 1= (D) i T

Which one of the following is not correctly

matched?

(A) DPT - Vaccine

(B) DOTS - Tuberculosis

(C) AB* Blood group —Universal Donor

(D) Adrenaline - Hormone

Prefarfad 4 @ B qfer 781 &2

(A) DPT — 211

(B) DOTS — &4 37

(C) AB* Y& AHE — qdgral

(D) ufg=ferd — &mfH

Which of these statements is/are not true in

relation to “Gentlemen agreement”?

(1) This agreement was done in 1942 A.D.

(2) It is related to the princely state of
Jhalawar.

(3) According to this agreement the
princely government will not help the
British in future.

Choose the correct code -

(A) (1) and (2) (B) Only (2)

(C) Only (3) (D) None of these

43.

" & Fae H fﬁﬁ[ﬁc\'!ﬁg[q H

e e &7
19428, ® BT ATI |

=y < rAars RITET ¥ g

x # agaR RAT wRewr

wfaer # sl D1 Ae TET By |

CSTeerig uifHe
P / By HA T
(1) nE rTrj‘]TT}T'

(2)

(3) g9 TifTEe

SEA| hHe -:{T'T”
() (1) a3z (2)
(©) #aa (3)
Match the following
Institution
(A)  Rajasthan Seva Sangh
(B)  Desh Hitaishini Sabha
(©) Veer Bharat Sabha
(D)  Sarv Hitaishini Sabha
Founder
(1)  Vijay Singh Pathik, Ram Narayan
Choudhary, Hari Bhai Kinker
(2)  Kesari Singh Barhath
(3)  Swami Gopaldas
(4)  Maharana Sajjan Singh
Choose the correct code -
(A) A-4,B-2, C-3, D-1
(B) A-1, B4, C-2, D-3
(C) A-3,B-1,C-2, D4
(D) A-1, B-2, C-3, D4

gﬁrlf%lﬂm'q-

(A) RN Jar |y
(B) =¥ RN wyy
©) AR IR

@) RN oy

(B) Ha< (2)
(D) 319 | PIS T8

..5

M Rom Ris v, RO

@ I Rig TrEs
() T iy

@ Wy :
e dE T - Ppisiitaic
(A) A4, B-2, C-3,D-1

(B) A-1, B4, C-2, D3

(©) A-3, B-1, C-2, Dy

(D) A'-l, B..z, C-S, D-4

- 1
Page 7 of 16 \
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25.

118A - A\

Identify the chronology of the following i

Battles —

(hH Battle of Haldighati
(2) Battle of Khanwa

(3) Second Battle of Tarain

Choose the correct code -
(A) 3,21
(C)2.3,1

(B)s1laae
D) 1.2

2
3

fy=ifofaa yat & w8 drermn gfy

(1) g & 4&
(2) EHa B Y&

(3) awigd & fady I8
& $e gHy -~

Match the following —
Mine

Degana
Mando-ki-pal
Jhamar Kotra
Goth-Manglod
Mineral

(1) Tungsten

(I1)  Florspar

(INI)  Rock Phosphate
(IV)  Gypsum

Correct code is -

(A) A-I1. B-1, C-1II, D-IV
(B) A-1, B-11, C-II1, D-1V
(C) A-1, B-I1, C-1V, D-IIT
(D) A-TV, B-II, C-III, D-1

gafera sifo —
(A)
(B)

(C)
(D)

(A)
(B)
(C)
(D)

(1) cieA
(II)
(111)
(IV)
HEl BE & —

(A) A-11, B-1, C-111, D-IV
(B) A-1, B-II, C-111, D-1V
(C) A-1, B-I1, C-1V, D-111
(D) A-1V, B-11, C-III, D-I

(B) 1, 3,
D) 1,2,

2
3

29.

27

28.

- (C) 18" century

o . q
; Rram Snehi Sect
The founder of Ren Branch o
was

(A) Saint Dariyav Ji

(B) Saint I*.:un-( ‘haran }!

(C) Saint Haridas Ji

(D) Saint Hariram Das Ji
S aprgarey @) 207 o1 |
(A) e afdama Sl

(B) ¥ wr=reor ol

(C) Ha efRam ol

(D) we gfer e off 3 |
When was the “Jaipur Theater Fest ura__*:mifud
in Jaipur? e

(A) March. 2022 (B) January, 2022

(C) April, 2022 (D) May, 2022

ST Privex e T AT ST A P4

H TIrI- T}f. '_JI

fpar an? .
(A) 914, 2022 (B) w1, 2022
(C) ardiar, 2022 (D) 7S, 2022

Haveli painting belongs to which century”

(A) 17" century (B) 19™ century

(D) 20™ century

Tell Rl fpa wareal 31 ad 57

(A) 174 rareal (B) 194 Frareal

(C) 1841 wrares] (D) 2047 wreTe]

Who has been awarded the Sahitya Akademi
Award 2021 for Rajasthani language?

(A) Raj Rahi (B) Anuradha Sharma
(C) Namita Gokhale (D) Meethesh Nirmohi

QI JBTEH RTBR—2021, ISR N

& forg fbRy fam wram 27
(A) 1T TN (B) SrqRren T
(C) <If¥aT TMraer (D) Hi33r FEiE

Which one of the following pairs

(Archaeological Site — Related District) is not
correctly matched?

(A) Jodhpura - Jaipur
(B) Gilund — Rajsamand "
(C) Sunari - Jhunjhunu

(D) Ojhiyana - Chittorgarh
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~~~ vewween the first
ber 4 well as of the
POsitions of the first
ber of the following

3,894 are reversed?
(B) 4

D) 5

FrfeRaa s 738, 429, 156, 273, gos
TS W F uee A 3B By ey qqd
S W A T @ D TE o o) T
B WA & RS 3B B NP7 few A
BITT? -

(A) 6 (B) 4

(C) 7 (D) 5

A question and two statements are given

below. You have to decide which statement is

sufficient to answer the given question.

How many doctors are working in a village?

Statements: 1. There is one doctor per one
thousand villagers.

11. There are 20 wards in the
village. Each ward has
number of doctors equal to
total number of wards.

(A) Only I is sufficient '

(B) Only IT is sufficient

(C) Both I and 1I are sufficient together
(D) Neither I nor II is sufficient :

digit of the highest nurﬁ
lowest number after the
tWo digits in each num

series 738, 429, 156, 27
(A) 6

(©) 7

T e & o Rl T e BT IW A B

o um i fras Rifeeads dRRT &2
e fafeca®s & |

YA 'n_mﬁgoaﬁﬁlmaﬁﬁ
. A 2 - -

arel &

70.

71.

If a mirror is placed in position of LM, then
which of the answer figures is the right mirror

?aﬁ_g né?tilz\re given gl}e%ti%n g;%;lri? & & T
T Iy 1 wh) uRfE € S S F
LM & Rufyy # var omai?

Question Figure —
S ST -

s il
b

In the question given below tWoO statements are
given, which are followed by tWO conclusions I
and I1. You have to take the statements o be true
even if the statements are at varance with
known facts. Make a careful study of all the
conclusions and decide which conclusion
logically follows the given statements even if
they seem to be at variance from commonly
known facts. _
Statements: All cakes are desks.

All desks are toffies.
Conclusions: 1. All toffies are cakes.

1. Some toffies are cakes.
(A) only conclusion I follows & -
(B) only conclusion II follows
(C) Both conclusions I and II follow

(D) Neither conclusion I nor conclusion I
follows

A fag g e § <1 FuE R M E, R
IgaRvT <1 fasput 18R 11 gwT fsan S 2 |
aﬁwﬁgﬁﬁﬂaﬁwﬁmwﬁ
I AFAT 2| fepsi &1 AEETiYES
Fe AR AR FuiRa e & S
ey W v X S aedi @ A adig Bl

-y

R N QA T YA} F7
T ¢ | - i o
U : T Db TP |
| Wt I it ¥ | b
I Sifthai s ¥
I 8 <Tihai dgp §
1




@ There are 120 students in a class, who read
Maths or History or English. It:is known that
no student can read all three subjects. 24 read
only Maths and History, 8 read only History
and English and 21 read only Maths and
English. 32 read only Maths and 13 only
History. If 9 of the students who read only
Maths start to read all three subjects, then find
the percentage of students wWho read History?
(A) 50% (B) 60%

(C) 40% (D) None of these -

.
e e & 120 Rrah £, 5 T a1 SREED
7 3l Ted ¥ A8 9 © 5 P e
o 3 REd B T8 TE Wl & | 24 DA
e site gRvere TG € 8 B SRE. I
Te S| 32 Bad AW U9 13 adt gNE
o &1 9T Saw AR U At Or A Yy
o ¥t 3 fRrwall 1 wa I Fd E o R
Ted 9 BE B e S PITg?

P
(A) 50% (B) 60% ‘ 8
(C) 40% (D) 5= & Bl T8l

81. Find the angle between the hour hand and th'ef_.i
minute hand of a clock, when the time 18—

3.25-
(A) 4715 (B) 4515°
(©) 40° (D) 45° =)
g , P
o e 25 e R e 3R B @ gEhe
& e T 3 B 107 Bl & — {om,
(A) 47v5° (B) 4515° %
(©) 40° (D) 45° m
r

82. Equations are solved on the basis of a certain
system, on the same basis find out the correct
answer for the given equation ~

(e

If 5472 = 9, 6342 = 6, 7584 = 6, then 9236 =?Tl::

(A) 5 (B) 3 00

(C D o’
(C) 4 (D) 2 S

o0

FATEHXT BT Uh 30 yomell & amR 1 gev—
fevam AT B, g9 MR W Ry wu i
1 WE S TG Ay —

I} 5472=9, 6342 =6, 7584 = 6 qq 9236 9
(A) 5 83 ;
(C) 4 (D) 2

118A - A

83.

84.

85,

1K 18°

g4 are based on pie-chart

Question Nos. 83 wnditufc of a family in

which shows e€xpe
various fields

field 1s equal to -

The central angle of thc{;:) 20
A ]
(A) 18 (D) 5°

(C) 1.8°

G & T DT PO AR T —

(B) 20°

(©) 1.8° D) 5°

If the family expenditure is ¥ 56,000, the
difference between the expenses of (B, C) and

(F, E) is equal to -
|.§-\-

(A) T 4580

(B) 4480
(C) T 448

(D) T 4380

R WRaR #T Gt @ 56,0002 2, @ (B, C)

IR (F,E) S 2 o1 3R WA R
(A) 4580 F

(€) 448 7

(B) 4480
(D) 43803




If ;
n 5 :
Codeg Certain code Ianguage “DE
g h, L " e [1 18
RGpSS, CCIDD”, “SIGHT™ ;; LLHI" is

“BOMBA‘{”“hen in the same code’ 1,

! : la
(A will be coded a5 . Anguage
{c; QMJXVR (B) ’\q’:’T-'XW

“CCI‘\TSB ﬁrfgaﬁ e WY "DELHI" %1 we
~CIDD" § sgn*r"aw T “RGDPO" &
: 0N H, B()MBAY" G| e a1

£S§ AMIXVR (B) AMIXVS
87. ANKYUR (D) ANTYWS
Ich of the following rational number lies
bet“’e-‘en and =29
(A) :-3- 5 3

- (B) -1
©) =7

(0) =13
. 9 45 { !
ﬁ‘?ﬁ—rﬁaaﬁﬁaﬁ??ﬁqﬁﬁaﬁ@n?aﬂ?

)

"""-j;-z-a‘?ﬂszrﬁem%? | s
o I (B) -t
- 5 3
© (D) -13

o 45
Six persons are sitting in a circle. A is facing
B. B is to the right of E and left of C. C is to
the left of D. F is to the right of A. Now, D
exchanges his seat with F and E with B. Who

will be sitting to the left of D?
(A)D . (B) B
© A (D) E

C.D® g sk 2| F, Ao <1 3R ®| a1,
D, F& W 391 HIe &1 ME—U&H Rl
2 3R E,B3 ™| DB i B a1 8
(AD (B) B
©) A (D) E
'89. A group of 630 children are arranged in rows;
for a group photo session. Each row contains

three less children than the row in front of j;,

What number of rows is not possible?

(A) 6 (B) 3 '

[C)4 (D) 5

g Biel 99 @ iy 630 9= & v

T TR o S 8

'dﬁﬁﬁwmﬁ;ﬁ?ﬁﬁﬁmm'w
) B W T @A g gy
R A6 - (g et :
,« ©4 (D)5

SRR A oc D6 P BN

n
90. The following tat"_‘e slh khs) in differen!

91.

92,

VNS
- ©2v6 . _
kx(x=2)+6=0 BT of NER & —

0

vehicles ina‘city i
fory enferer g
(et #) R
B < Year(ﬂ"ﬁj

Vehicie«_

 Truck &%)
Bike (H1eY
| W)
| Others 31) | 0-22
[ Total (@) |
If percentage of im.:rf:zalsg’0 1
vehicles from 20?01—;1(3:;:56 * of
tage O o
:ﬁ:h?:{:: nfrc:)gm 1990-91 to 20(1)0‘;2) L,k{.hbc S
number of vehicles in 2010-1
1 s)? 3
tzrofgnzgagg-& & 2010-11 &5 P BA arEAl o

' aferd 91 § 2000-01 & HA
%gma%%{;ﬁ% T &, T 2010-
11§ aedt # Fa wE SR
(eIt #) -

(A) 43.36 _ (B) 42

(€) 425 %= "7V B} 4395

The value of k for which quadratic equation
kx (x — 2) + 6 = 0 has equal roots are -

(B) 6

(D) 4

(A) 35 (B) 6
© 2v6 (D) 4

AB
WXC;I%EF‘GHIJKLMNOPQRSTUV
If the second half of the Engli

. sh alph i
reversed then which letter wgill be 4l:hat1:)e ttt:S
(nAghIt{ of 20th letter from the right? 8

)

s o v
‘Av?(%D.EFGHIIKLMNOPQRSTUV
s am
NN R e
(A)T_‘*WW? ﬁzo‘&&m




; | W s oG

Py

2
2 ]f th .
€ 25th ; NKTO 4 70 = foS word
con TUBer Of Misnan Y50 1 Thuygg, [ eeny e 1608 O [ ormed
al to s at g f arrangin aq gam d so
(&) o to Month js LASBEBLA  (he name ﬂit‘:e%s ¢ the word s E{\/
()3 {[B)) . what are the first and 125! (bﬁbg
)5 formed? '
\ 25 ey TR N~ ALS £
a‘?#ﬁﬁawﬁmmg_aww ol\c; © s, L {I.:;Ba.mﬁﬁmaﬁuﬁ
© - (B) 4 © M LAspEBLA T oo 8, @1 T
R . s S T foh ad T o e
S;—]ecl the correct alternative that shares il 2 PR T 5 B)L.E
e relationship as the given pair l;cl(m? e | =AY s (D B' i
(A;‘M:ISxI?::DxH;? J (C) S, L £ 'tionand answer
© 4x6 B)6x6 78. Study the following I“f"fi"a
8 x4 (D) 4x3 the question given bclﬁ?g,;r{t K. R and J are
: inte . K,
:;:«“l % o1 07 DY W A R g o o i s aedncst K. d aad
U W W vy & : hardworking. R, following

QXM:13x17::DxH:?

A) 4x¢ B)6x6

€) 8x4 (D) 4x38

* When 70 is added to 70% of a number, then

obtained number is equal to 70% of 150.
Number is equal to -

(A) 70 (B) 50
(C) 35 (D) 100

S8 TP G40 & 70% H 70 ST o7er £ a1
9T | 150 B 70% @ SRIER &) ol
T §RIER § — e
(&) 70 ®s0 R
(C) 35 (D) 100

- What will come in place of question mark (?)
in the following series?
P3C: RSE, TRL NV121.-%.2=...

(A) X170 (B) X17M

(C) Y170 (D) YI7TM
ffetad 29l # yerams fo (7) & ®m
X T Y7 s
P3C, RSF, T8L, V12L,.....7.....

(A) X170 (B) X17M

(C) Y170 (D) Y17M

- Find the missing number from the given

_%ﬁ‘“&“ﬁ%ﬁ T HEAT 7T PIg

118008770

118008770

©

which of the

J are ambitious. bardworking but

1 i or
persons is neither honest 1
is ambitious?

(B) H

A) K

:C;G (O) R
ﬁﬁﬁlﬁaﬁmﬁﬂwﬁaﬁqm

HT IR < |
??Gﬁai?v“;gfzmw' £ 'K, R3R J ¥l &)
R,H 3R J $urer | K, G 3R J e
¥ Prfes 3 W @FET @ftm q
MR % ek M @ deAdr ¥ b
HewdThie &7
(A) K (B) H
©€) G : (D) R
Mr. X walked 75 m towards North. Then he
turned to left and walked 25m. He turned left
again and walked 80m. Then he turned to right
at an angle of 45°. In which direction was he
moving finally?
(A) North-West

(B) North—East
(C) South—West

(D) South—East




